[ Efficiency vs vertpos |
- 0.2

20.18F
‘g o
2 0.16F
O -
§0.14
[
£0.12
0.1
0.08
0.06
0.04
0.02

1.0

Ratio

=
T T I3

0.95 : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global_mKkFit10000__RECO

Efficiend —— DQM_V0001_R000000001__Global_mkFit1000_RECO
ICIeNd _,__ pQM_V0001_R000000001__Global__mkFit1000ATime RECO

N 0] : : : : :
Borst
L ERRE TN TY SR
o S .
L R

5 : : }
£0.06F o]
o : : : :
0.05------ \ """ poeoet :

...........

R S ——
S N B o -

CTO7 SRRRRS SO S S Lo

ooty -

Vs

il
L]
0

Ratio

[y

10 20 30
TP vert z (cm)

o
15
o
o
|
o
[
=
o

[ Efficiency vs. sim PV z |
~ 0.1

N N
U R AU S |

o008t ........ ++
20.07 +++++ AEE
go.oe ﬂ++++++ ;

o SRR S S i I
(] H N

0.04fF frrebeeeeednnesdo i P
0.032— ---------------------- -----------------------
0,02;— ------ e H b P LRI
0.0L e+ chereresrirenenene S SISIEE SR
AF. | | e | |

o+ o

I i ;

x r

210 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


